(@) f()=é
fl(x)=2e"" = f(1) = 2¢*

2

An equation for the tangent lineis v = e” + 26 (x —1).
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(b) Alea—J‘ﬂe (fx—[ze L=0—2(e l)

2

[ 2
(¢) Volume =1+ [ (1 — %hl.‘l‘] dv
1 .



(a) x'(r) =15 —18¢
X(1)=15-18 = =3

Since x'(1) < 0. the particle is moving to the left at time 7 = 1.

(b) x'(1)=3t(5t-6)=0=t=0.1=

Lh| o

Since x'(f) <0 for 0 <1 < % and x'(t) >0 for 1 > %

the particle 1s farthest to the left at time 7 = %

(c) Area = A(r) = %x{f}y(r)

= %(53‘3 - 91" +7)(7t +3)

A(r)= %[[m2 —187)(7t +3) + (57 — 91> + 7){?}]
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40) = ()00 + @) = 230+ 21] = -
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